Distinction Test Papers

Grade 5
Maths/English/French

English: Model 1
Question1:
1B; 2B; 3D ; 4B ; 5A

Question 2:

1 She was having trouble seeing objects that were far away

2. He put special lenses in front of Linda’s eyes.

3. She was very happy.

4. An optometrist is an eye doctor. An optician helps you
pick out frames for your glasses and fits the lenses.

5. She will be able to see everything clearly.

Question 3:

1. for 2. myself 3. will 4. zoo 5.swarm
6. which 7. cleverer 8. florist 9.lend 10.Although
Question 4:

1. will/lgo 2. locked 3.comes 4. does/smoke
5. are 6.aresold 7. Are/listening 8. travelling

Question 5 (Part A):
bus — down — driver — wrong — time — mechanic — help —
friends — parents — outside

Question 5 (Part B):
played — tired — engine — friend — home

(or any other acceptable answers)

ENGLISH 2017

Question 1
Outside the school’s gate B

The sea was rough C

Alone D

High up on the mango tree A
Obedient C

o krwdE

Question 2

1. The pupils were excited because they were going to
spend a day at the seaside.

2 Two teachers and the headmaster.

3. Playing football / collecting shells/
building sand castles

4. Because he saw five fierce monkeys high up on the
mango tree.

5. He felt ashamed of himself.

Question 3

1. us 2.in 3.which 4. eating  5.heavier
6. themselves 7. wasn’t 8. safely 9. pack 10. never

Question 4

1.gives 2.areworking 3.used 4. borrow
5.broke 6.wasgoing 7.willmiss 8. has landed
Question 5 (part A)

his - reached - .hungry - sleep - lights

hiding - goods - hesitating - door - loudly

Question 5 (part B)
they - fast - swim - with - much

ENGLISH 2018

Question 1
1.stupid B

4, sat down A

2.the king C 3. disappointed D
5.The clever wife B

Question 2

1. (i) He cut the customer’s ears instead of their hair
(if) While shaving the customer, he cut their cheeks

2. Because it was a piece of unused land which was
found far outside the city.

3. The plan of the wife was to have the land ploughed.

4. Because he went to call his companions as soon as
the barber’s wife went home.

5. By selling the vegetables which she grew in the field.

Question 3
lcrowd 2.any 3.firemen 4. which 5. Although

6. strongest 7.of 8. ourselves 9.off 10.saw

Question 4

1. washes 2.caught 3. will take 4. am
5.reached 6.swimming 7. iswaiting 8. were playing

Question 5 (part A)
born - younger - famous - idea - travelling -
immediately - to - every - with - when

Question 5 (part B)
writing - and - her - like - countries




ENGLISH 2019

Question 1

1.many people came to see them D

2. family C

3.wanted to have popcorn B

4. excited A

5. animals B

Question 2

1. (i) The performance of the circus animals.
(ii) The clowns throwing balls in the air.

2. Because they didn’t want to miss the show.

3. (i) When they jumped high in the air.

(ii) When they moved their bodies in different ways.

They were impressed.

5. Because she had spent a wonderful moment at the
circus.

Question 3

1.under 2.best 3.its 4.themselves 5.who
6. much 7.as 8. courageously 9. mechanic \
10. didn’t he

Question 4
1. finished 2. is playing 3. borrows 4. take

5.close 6. will stay 7.haveseen 8. was sleeping

Question 5 (part A)

1. well 2. early 3.Friendly 4. making 5.chance

6.very 7.So 8.in  9.herself  10. changed

Question 5 (part B)

l.give 2.surprised 3.returned 4.said 5.to
ENGLISH 2021

Question 1

1D 2A 3C 4B 5B

Question 2

1. Mrs Joe forced Reva to wrok hard all day.

2. Reva gave the old woman water to drink.

3. Everytime Reva speaks, a jewel will come out of her
mouth.

4. Mrs Joe wanted Tara to receive the same gift as Reva.
5. Because Mrs Joe had no other choice as she knew Reva
would help her to become wealthy.

Question 3
l.isn’t 2.to  3.ourselves 4.their 5.some 6.
fastest 7.but 8.who 9. courageous

2

10. bunch

Question 4
1. repairs 2. will go
are reading 6. rains

3. celebrated 4. finishing 5.
7.carry 8. has left

Question 5 (Part A)
on, storm, strong, passengers,
losing, my, shouted, grateful

his,  danger,

Question 5 (Part B)
was, and, they, that, went

Question 6

1. The weather is sunny.

2. A man is cutting down a tree with an axe.

3. A boy is feeding the ducks near the lake.

4. A beautiful girl is putting some grains to make the
plaints grow healthier.

5. A boy is planting several flowers/plants.

6. Some birds are flying in the sky.

7. A cute girl is picking fruits and put then in a basket.

8. The picture shows a beautiful place with a lake and a
mountain range.

English 2022

Question 1
1B 2C 3C 4D 5A

Question 2
1. - The frog refused to be friend with the elephant.

- The rabbit said that the elephant is big and will
crush him if the play together.

2. Because the elephant is big and she will destroy the
tress where the monkey live in.

3. There will be no water left in the pond.

Jumbo ran after the tiger and gave him a big kick.

5. No matter how you look, you can still be a very good
friend.

&

Question 3

1.in 2.themselves 3.few 4. more expensive
5.because 6.this 7. mechanic 8. won’t you
9. flock 10. yet.

Question 4

l.are 2.baked 3.will meet 4.saw

5.do 6.eating 7.iscooking 8. were fighting

Question 5 (part A)
time, enough, worried, wondered, near,




look, her, best, do, that

Question 5 (Part B)
wake, the, dirty, with, beautiful

Question 6

1. Itisarainy day.

2. There are some students in the school yard.

3. A parent is accompanying his daughter at school.
5. Some kids are jumping in puddle.

6. A boy is running while holding a book above his

head .

The students are wearing raincoat.

A girl is carrying an umbrella.

A bus is splashing water on a passerby.

10. Two students with their bag on their back are running
towards the bus.

© o~

English 2023

Q1
1B 2C 3D 4C 5B

Q2

1. Because they wanted to have fresh fish for lunch

2. Because he wants to bring some fish home for dinner.
3. Because Nico was worried that Tony might have to stay
till late in the afternoon to catch some fish.

4. Because he did not bring a big pan to cook the big fish.
5. To cut the big fish into smaller pieces to fit them into
your pan.

Q3

1.in 2. What 3. fastest 4.isn’t 5. more colourful
6. themselves 7.crowd 8. plumber 9. barking
10. Although

Q4
1. attract 2.go 3.ate 4.isringing 5. will read
6. raining 7. was sleeping 8. have finished

Q5 PartA

metres, few, because, live, and, to, guides, year, health,
give

Q5 Part B

drink, have, thing, is, can

Question 6

An accident has happened.
A van collided with a car
The police interrogating the people.

Police is controlling the traffic by stopping vehicles and
letting people crossing.

A woman is talking with her phone informing her relative
about the accident.

Children are afraid.

The traffic light is broken and has fallen on the street.
The injured persons are taken to the ambulance.

English 2024

Q1
1A 2B 3B 4D 5C

Q2

1. Fifi and Jim played together.

2. One Saturday morning

3. (i) Her heart was filled with worry.
(ii) She was relieved and very happy.

4. Fifi promised to be more careful and make sure that
Jim would never get lost again.

5. She should be more careful and kept a watchful eye on

Jim.

Q3

1. where 2.to 3.himself 4.at 5.smaller 6.didn’t
7. bakery 8.chef 9. delighted 10. because

Q4

1.rises 2.visited 3.want 4. will meet 5. started

6. were eating 7. is doing 8. has bought

Q5
big, famous, cannot, is, tree, colours, its, full, tiny,
years

Q6
are, their, to, named/called, like
French
Model 1
Question 1:
1D 2A 3C 4D 5B 6A 7D 8B 9C 10A
Question 2A

(i) Nous ne nettoyons pas la maison de fond en comble.
(if) Le motocycliste n’évite pas le chien.

Question 2B

Phrases affirmatives: i. Sara va a I’école.
Phrases interrogatives. Est-ce que cette fille est
malade ?



Question 3

(b) sous  (c) large (d) assoient (e) murmure (f)a

Question 4

(@) font  (b) jouant
(e) achéterai
(h) a donné

(c) aparlé (d) faisais
(f) Fermez  (g) mangeaient

Question 5

(a) La robe gue maman repasse est rouge.

(b) llvaalagareou il prend le bus.

(c) Pendant que papa répare la voiture, mon frére fait le
jardinage

4. Anna va voir un médecin parce qu’elle est souffrante.

5. Vous voulez aller a la boutique pour acheter des
bonbons.

Question 6
nuages - pleuvoir - pluie - triste - amis
grands - riviére - arrét - tombant - carreaux

Question 7

(@) chanteur (b) rouges (c) tremblement
(e) travaux

(d) longueur

French 2017
Question 1

a) ne parle pas du tout D
(c) agneau D

(b) garde les moutons A
(d) va faire nuit B

(e) se fait du souci B (F) était dans le lac C
(9) sauver I’agneau D (h) parler B

(i) d’entendre son fils parler C (j) Courageux A

Question 2 A
1. Rajeev ne cueille pas de fleur pour Manisha.
2. Ladame n’a pas eu peur en voyant le singe.

Question 2 B
i. Interrogative: Ranges — tu ton cartable?
ii. Affirmative: Les joueurs sont la.

Question 3
(@) Milieu  (b) peur (c) fatiguée
(e) reposer (f) sommeil

(d) petite

Question 4
(a) achetez
(e) franchissant

(b) avait
(favu

(c) dormirai
(g) construit

(d) Bois
(h) gronder

Question 5

(a) La petite fille qui porte une robe bleue est ma cousine.

(b) Les automobilistes allument les phares parce qu’il fait
nuit.

(c) J’ai regardé le film dont tout le monde parle.

(d) Comme maman avait oublié son parapluie, elle est
toute trempée.

(e) Nous sommes retournés sur la plage ou un dauphin
s’était échoué.

Question 6
1.passe 2. miaulement 3.aux 4. grains
5.chasse 6. facilement 7.pres 8. le

9. montrer 10. affectueux

Question 7
(a) voyage  (b) soigner
(d) silencieusement

(c) circulation
(d) houleuse

French 2018
Question 1
@B (C ()b
D (@A

(d)B
c ()cC

(e)B
oA
Question 2 A

i. Ma mere et mon pére ne vont pas a la plage.
ii. Le garcon n’a pas sali ses vétements.

Question 2 B
(i) Affirmative: Elles sont arrivées a I’heure.
(ii) Interrogative : Le chien a-t-il aboyé pendant la nuit?

Question 3

(@) dans  (b) sales (c) plastiqgue  (d) mauvaise
(e) et (f) propre

Question 4

(@) ont fait (b) salissons (c) Ouvre (d) se leve
(e)irons  (f) lisait  (g) soient (h) courant
Question 5

(2) Tikoulou qui est un bon coureur, s’entraine
réguliérement.

(b) La maison ou j’habite est détruite.

(c) Dan s’est blessé quand il a fait une chute.

(d) Samu n’est pas venu a 1’école parce qu’il est malade.

(e) Tu me parles d’un film dont le titre est “Rex”.

Question 6
1. petites
5. maison

4, accueillir
8.du 9. entre

2. excités
6. pour

3. peur
7. sortir

Question 7
(a) gagne (b) sportive (c) prudent
(d) soigneusement (e) orageux



French 2019

Question 2A
i. Le enfants ne vont pas a la plage.
ii. Pierre n’a pas sali ses vétements en jouant.

Question 2B

i. Affirmative: Tu prends le bus pour rentrer.

ii. Interrogative: Est ce que le marchand a vendu tous
ses légumes?

Question 3

(@) école  (b) réciter  (c) aide  (d) jours

(e) écoute (f) félicite

Question 4

(@) part (b) faites  (c) irons  (d) est venu

(e) lisait  (f) dire (9) se promenera (h) jouant

Question 5

a. Lafille qui porte une robe bleue est ma soeur.

b. Quand la cloche sonne, les éléves sortent de la classe.

c. Reenaestallée a Souillac ou elle a visité le musée.

d. Le chemin que vous prenez est long.

e. Grand-pere est vieux mais il peut toujours lire sans
lunettes.

Question 6

l1.par 2.car 3.qui 4. achéte 5. répond

6.sur  7.imprudent  8.route 9.et 10. bosse

Question 7

(@ fin (b) rentrée  (c) cyclonique

(d) nationale (e) chanceux

French 2021
Question 1
@C (mMA (B
(D ®HC A

@B (C (MHD (9B

Question 2A

(i) La voiture ne roule pas vite.
(i1) Chris n’attend pas sa mere.

Question 2B
(i) A-t-il cassé le jouet? / Est-ce qu’il a cassé le jouet ?
(ii) Yohan est arrivé.

Question 3
(b) rentrée
(f) a salué.

(c)trac  (d) écrire  (e) sac/ cartable

5

Question 4

(a) sont venues
(d) habitait  (e) offriront
(h) serai

Question 5

(a) L’homme qui est assis sur le banc est mon oncle.
(b) Les enfants crient car ils ont peur.

(C) Comme je suis en retard, je me dépéche.

(d) Toby est malade mai il va quand méme a I’école.
(e) La dame que tu vois est tres jolie.

(b) regardant  (c) descendent
(f) Finis  (g) partager

Question 6

qui, petit, lentement, choisir, jamais, pantalon, cours,
de, larmes, réponds

Question 7
(@) rapidement  (b) pluvieux (c) jardinage (d) sortie
(e) bel
French 2022
Question 1
@b (mMC (©)A @dC (B (fHC
@A (mB @HB ()C
Question 2A

(i) Les filles ne vont pas jouer dans la cour.
(i1) Jean n’a pas re¢u de train pour son anniversaire.

Question 2B
(i) Il est en retard pour son travail.
(ii) Les animaux ont-ils peur du lion ?

Question 3

(b) participer (c) jours (d) joli

(e) gagnante  (f) fiers

Question 4

(@) sifflant  (b) irons (c)es (d) prenait

(e) sont venus (f) jouez (g) frapper (h) Finissez
Question 5

(@) Le monsieur qui parle au directeur est mon pére.
(b) Bébé pleure parce qu’il a faim.

(c) Cette robe est belle mais chere.

(d) Le village ou il habite se trouve dans le sud.

(e) Tout le monde se met a I’abri quand in pleut.

Question 6
préparer, soigneusement, au, tous, beau, régaler,
tabouret, mais, ouvre, punition.



Q7
(a) chant (b) balade (c) tropical (d) patiemment
(e) silencieux

French 2023

Ql
1B 2C 3A 4B 5D 6B 7A 8D 9A 10B

Q2A
(i) Sheila ne voyage pas en métro.
(i1) Papa n’achéte pas une pomme.

Q2B
(i) 1l fait beau ce soir.
(i) Est-ce qu’elles dansent joyeusement ?

Q3

(b) avec (c) pleurer (d)des (e)son (f) bon/délicieux
Q4

(@) joues (b) construira (c) Rangez (d) avez bu

(e) ouvrant (f) repose (g) mangerons (h) donner

Q5

a) Papa se leve tot et prépare le petit déjeuner.

b) Mon voisin entre dans l'autobus qui se dirige vers
Curepipe.

c) Je fais la lessive en utilisant de I’eau et du savon.

d) Comme maman est trés fatiguée, elle veut se reposer.
e) Les enfants se cachent parce qu’ls ont peur de I’orage.

Q6
panique, calmer, tandis, mais, vitesse, entendant, tres,
baton, long, avoir

Q7
(@) premiere (b) boisson (c) protéger (d) fruitier
(e) abondamment

French 2024

Q1
1C 2A 3D 4A 5B 6C 7B 8A 9C 10D

Q2A
(i) Jean finit-il ses devoirs ?
(ii) Claudine est-elle souffrante ?

Q2B
(i) Ne prenez pas vos livres.
(ii) Les enfants ne jouent pas dehors.

Q3

(@ qui (b)a (c)et (d)petit (e)car (f)plus

Q4

(a)arrose  (b) lisant (c) fétera  (d) ont descendu (e)
iras (f) habitaient (g) preniez (h) réussir

Q5

() Maman mange une pomme qui est juteuse.

(b) 1l achéte des carottes et des choux.

(c) Le bureau ou Arthur travaille, est grand.

(d) Karina est malade mais elle vient a 1’école.

(e) Michelle sonne a la porte car elle a oublié sa clé.

Q6
ferme, monde, féte, rigolos, probléme, oublie, partout, le,
Sous, pour, succes

Q7
() prudemment
(e) début

(b) vieille  (c) natation  (d) chant
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